Joshua Spiro
Computational Thought

Scribe Notes 10/12/09

· Today was quite a sad day because our very smart and handsome professor, Dennis Shasha, was not present. As a result, these scribe notes may seem a little incomplete.

· Wasting no time in the pursuit of knowledge, we set directly to work by talking about Burton Smith.

1. Smith was born in Chapel Hill, North Carolina.

2. He quit school to join the navy and then went on to head back to school.

3. He eventually started work on parallel computation. Parallel computation allowed for multiple processors to work on different pieces of the same computation, increasing the speed at which it was performed. It works much the same way as an assembly line in a factory. This represents the process of pipelining which is also shown in such processes as the creation of computers, or those oh so glorious bits of happiness: Honey Bunches n’ Oats.
4. Dataflow Architecture: when a system is designed to perform an operation as soon as its inputs are ready.

5. Memory Latency: the time it takes a processor to access its memory chips.

6. To solve the problem of memory latency, Smith designed the HEP which allowed for different processes to be run simultaneously on one processor. Though this did not solve the problem for the network. The network was the connection of different processors and the memories.

7. To prevent electronic traffic jams, Smith proposed the idea of an Euler tour, which sends data throughout a network.
8. Smith then set to work on the Tera machine, which was 16 times more massive than the HEP. However, this large size seemed like it could cause many unfavorable routings or a good deal of memory latency. He then realized that if he sent out more requests per memory that he would not need to decompose tasks too much.

· With Burton Smith firmly entrenched in our memories, we talked about the two puzzles we had to do. The first one being Tower of Lego presented by Justin. The schedule would appear as something like this:
	Week
	Stacks
	Meters

	1
	500
	2

	2
	250
	4

	3
	125
	8

	4
	63
	16

	5
	32
	32

	6
	16
	63

	7
	8
	125

	9
	4
	250

	11
	2
	500

	13
	1
	1000


· The second part of the problem would then have a stack something like this.

	Week
	Stacks
	Meters

	1
	5000
	2

	2
	2500
	4

	3
	1250
	8

	4
	625
	16

	5
	313
	32

	7
	157
	64

	9
	79
	125

	11
	40
	250

	13
	20
	500

	15
	10
	1000

	17
	5
	2000

	19
	2
	5000

	21
	1
	10000


· The next problem we had was the Circuits checking circuits problem.
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· If more than one input has an input of 1 then at least one and gate has a 1 as an output, therefore, the bottom gate would have a 1 as its output.

· To finish up those who brought laptops downloaded python and attempted the first program!
